Multiplication (H)

Calculez chaque produit.

06X 6= 60X 6= 7T X 5= 2 X 7=
7Tx1= 4x5H= bx4= b X 2=
DX b= 7TX 3= 1 x5= 1 x1=
3 X 3= 1 x3= 3 X 4= 2X b=
6x1= 2X 5= 3x 4= bX 7=
1 x3= 1 x3= 2 X 4= 6xX6=
2 X7 = HX 2= 2 x4 = 7TX6=
7TX 3= 4x2= 3X5H= 1 x 7=
2X 5= 3 X 3= 4x5= 4xX7T=
4x6= 7TXH= 06X 2= 1 x5=
4x6= 1 x3= 4x3= 2X 3=
2xX 4= 1 x2= 2x1= b X 2=
DX 3= 3 X 3= 2 X 4= b X 2=
06X 3= 3 X b= HbX 3= b X 2=
DX 0= 1 x2= 7TX 3= 1 x2=
6x1= HbX 3= 1 x1= TX 3=
1 x5= 6 X 5= 1 x3= b X b=
60X 3= 4x2= 6 x4 = 1 x4 =
3X 6= 3 X b= HX 0= 4x1=
IXT= b X b= 1 x 7= 3 X 2=
4x1= 6x 4= 6 X = 6x1=
DX 3= I x1= b X 2= 2X 2=
7TX 3= SxX 4= 1 x6= 3XT=
TX 7= 2X 7= HbXH= 6 X 5=
3X 6= 3XT= 3X 2= 2 X 1=
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Multiplication Solutions (H)

6 x 6 =306
Tx1=7
bXxbH=2)
3x3=9
6xXx1=60
I1x3=3
2xT7=14
7Tx3=21
2x5=10
4x6=24
4x6=24
2xX4=28
bx3=15
6 x3=18
b x6=30
6xXx1=606
1 x5=5
6x3=18
3x6=18
3XT7T=21
4x1=4
bx3=15
7Tx3=21
7TxXT7T=49
3 X 6=18

Calculez chaque produit.

6 x 6 =36
4x5=20
7Tx3=21
1 x3=3
2x5=10
I x3=3
5x2=10
4x2=38
3x3=9
7X5=235
I1x3=3
1 x2=2
3x3=9
3xH=15
I x2=2
5x3=15
6 x5H=30
4x2=28
3xH=15
55X H=25
6x4=24
Ix1=1
5 x4 =20
2xT7T=14
3XT7T=21

7 X 5=235
5 x4 =20
I xb5=5
3xX4=12
3x4=12
2xX4=28
2x4=8
3Xb=15
4x5=20
6x2=12
4x3=12
2x1=2
2xX4=28
5x3=15
7Tx3=21
Ix1=1
I1x3=3
6x4=24
5% 6 =30
Ix7=7
6 x5 =230
5x2=10
I xX6=0
5 X H=125
3X2=06

2xXT7=14
5x2=10
Ix1=1
2x5=10
5 X 7=35
6 X 6=36
7 X 6=42
1x7=7
4 x7T=28
1 x5=5
2X3=06
5x2=10
5x2=10
5x2=10
1x2=2
7Tx3=21
b X 5H=25
1x4=4
4x1=4
3X2=06
6xXx1=606
2xX2=4
3xXT7T=21
6 x5 =30
2x1=2

MathsLibres.com




